

Date: 1/27/2022 Reference #: 559537

**Town of Prosper** 

Brenda Reber Business Development Manager 972.804.4808 ph brenda.reber@workspaceinteriorsod.com Dan Heischman

Prosper TX

Item	Qty	Product		Sell Price:	Unit	Extended
1	1	ORDER NOTE:			\$0.00	\$0.00
		Omnia Contract Contract #R191812				
2	1	ORDER NOTE:			\$0.00	\$0.00
				Development Services: Product + Ir Engineering Services: Product + Ins		
				Engineering Services. Froduct 1 Ins	tallation – 45	0,903.30
3	3	<b>EVABB01</b> Binder Bin			\$23.16	\$69.48
		SF-Storage Paint Colors (Acc)	~STD	Standard Paint Colors		
		Standard Paint Colors (Acc)	SDT	Stone Dust (Textured Cappuccino)		
4	6	EVASS01R			\$14.81	\$88.86
		Slant Sorter, Right				
		SF-Storage Paint Colors (Acc)	~STD	Standard Paint Colors		
		Standard Paint Colors (Acc)	SDT	Stone Dust (Textured Cappuccino)		
5	1	EVE8CP118			\$77.08	\$77.08
		118" - Pass Thru Cable				
6	1	EVE8CP154			\$93.03	\$93.03
		154" - Pass Thru Cable				
7	3	EVE8CP16			\$38.73	\$116.19
,	3	16" - Jumper Cable, Panel to Panel			<b>\$30.73</b>	\$110.1 <i>9</i>
8	1	<b>EVE8CP52</b> 52" - Pass Thru Cable			\$53.54	\$53.54
		32 - Fass IIII Cable				
9	1	EVE8CP70			\$61.13	\$61.13
		70" - Pass Thru Cable				
10	1	EVE8CP70			\$61.13	\$61.13
		70" - Pass Thru Cable			·	·
11		EVECCIO			ተራር 45	4CC 45
11	1	EVE8CP88			\$66.45	\$66.45



Date: 1/27/2022 Reference #: 559537

**Town of Prosper**Dan Heischman

Brenda Reber Business Development Manager 972.804.4808 ph brenda.reber@workspaceinteriorsod.com

Prosper TX

Item	Qty	Product	Sell Price:	Unit	Extended
		88" - Pass Thru Cable			
12	1	EVE8CP88		\$66.45	\$66.45
		88" - Pass Thru Cable			
13	1	EVE8CP94		\$68.35	\$68.35
		94" - Pass Thru Cable			
14	1	EVE8PD24		\$46.70	\$46.70
		24", Power Distribution Housing			
15	1	EVE8PD24		\$46.70	\$46.70
		24", Power Distribution Housing			
16	1	EVE8PD36		\$66.45	\$66.45
		36", Power Distribution Housing			
17	3	EVESPD42		\$67.59	\$202.77
		42", Power Distribution Housing			
18	3	EVESPD42		\$67.59	\$202.77
		42", Power Distribution Housing			
19	3	EVESPD48		\$73.28	\$219.84
		48", Power Distribution Housing			
20	2	EVESRD1		\$9.88	\$19.76
		#1 Utility Circuit, Duplex Receptacle, Black			
21	5	EVE8RD1WHT		\$11.39	\$56.95
		#1 Utility Circuit, Duplex Receptacle, White			
22	2	EVE8RD2		\$9.88	\$19.76
		#2 Utility Circuit, Duplex Receptacle, Black			
23	5	EVE8RD2WHT		\$11.39	\$56.95
		#2 Utility Circuit, Duplex Receptacle, White			
24	2	EVESRDA		\$9.88	\$19.76
		www.WorkspaceInteriorsOD.com			Page 2 of 27



Date: 1/27/2022

Reference #: 559537

## **Town of Prosper** Dan Heischman

Brenda Reber Business Development Manager

972.804.4808 ph brenda.reber@workspaceinteriorsod.com

TX Prosper

Item	Qty	Product		Sell Price:	Unit	Extended
		A, Dedicated Circuit, Duplex Receptacle, Black				
25	5	EVESRDAWHT			\$11.39	\$56.95
		A, Dedicated Circuit, Duplex Receptacle, White				
26	3	EVHCB2			\$8.74	\$26.22
		Corner Brackets Left and Right (Pair)				
		20-Paint Colors	~STD	Standard Paint Colors		
		Standard Paint Colors	SDT	Stone Dust (Textured Cappuccino)		
27	2	EVHCL2			\$37.21	\$74.42
		28"h x 1.5", Square Corner Leg w/ Leveler				
		20-Paint Colors	~STD	Standard Paint Colors		
		Standard Paint Colors	SDT	Stone Dust (Textured Cappuccino)		
28	1	EVHFB1			\$5.70	\$5.70
		Flat bracket (Available in Black Only)				
29	2	EVHMEG24L			\$83.91	\$167.82
		28"h x 23"d, Metal End Gable, Left, Does NOT Si		Adjoining		·
		Worksurfaces, Includes Leveling Glide and Sleev 20-Paint Colors	e ~STD	Standard Paint Colors		
		Standard Paint Colors	SDT	Stone Dust (Textured Cappuccino)		
30	2	EVHPL30			\$124.54	\$249.08
		30"d x 6.75"w x 27.5"h, Princeton "O" Leg, Included Depth Surfaces Only	des Levelir	ng Glides, Use with Exact	·	·
		20-Paint Colors (Metal)	~STD	Standard Paint Colors		
		Standard Paint Colors	SDT	Stone Dust (Textured Cappuccino)		
31	2	EVPCPA254			\$74.04	\$148.08
		54"h, 2 Way Post, Includes Post, Hardware & Ale	uminum Tr	ims		
		20-Paint Colors (Alum + Metal)	~STD	Standard Paint Colors		
		Standard Paint Options	~STD	Connectors w/ Matching Inlines (Us	se w/ Matching	Horizontal Reve
nnector	s w/ Ma	tching Inlines (Use w/ Matching Horizontal Reveal)	SDT	Stone Dust w/ Stone Dust Inlines (	Textured Capp	uccino)
32	2	EVPCPA366			\$113.53	\$227.06
		66"h, 3 Way Post, Includes Post, Hardware & Ale	uminum Tr	ims		
		20-Paint Colors (Alum + Metal)	~STD	Standard Paint Colors		
		Standard Paint Options	~STD	Connectors w/ Matching Inlines (Us	se w/ Matching	Horizontal Reve



Date: 1/27/2022

Reference #: 559537

# **Town of Prosper**

Dan Heischman

Brenda Reber Business Development Manager 972.804.4808 ph brenda.reber@workspaceinteriorsod.com

Prosper TX

Item Q	ty Product		Sell Price:	Unit	Extended
nnectors w	/ Matching Inlines (Use w/ Matching Horizontal Reveal)	SDT	Stone Dust w/ Stone Dust Inlines	(Textured Capp	ouccino)
33	6 EVPERA54			\$34.94	\$209.64
	54"h, End of Run Post, Includes Post, Hardware	e & Aluminu	m Trim		
	20-Paint Colors (Alum + Metal)	~STD	Standard Paint Colors		
	Standard Paint Options	~STD	Connectors w/ Matching Inlines (U	Jse w/ Matching	g Horizontal Reve
nnectors w	// Matching Inlines (Use w/ Matching Horizontal Reveal)	SDT	Stone Dust w/ Stone Dust Inlines	(Textured Capp	ouccino)
34	1 EVPERA66			\$38.73	\$38.73
	66"h, End of Run Post, Includes Post, Hardware	e & Aluminu	m Trim	·	·
	20-Paint Colors (Alum + Metal)	~STD	Standard Paint Colors		
	Standard Paint Options	~STD	Connectors w/ Matching Inlines (L	Jse w/ Matching	g Horizontal Reve
nnectors w	/ Matching Inlines (Use w/ Matching Horizontal Reveal)	SDT	Stone Dust w/ Stone Dust Inlines	(Textured Capp	ouccino)
35	4 EVPF1S6624M			\$264.64	\$1,058.56
	66"h x 24"w, Slatwall Panel (12" SW), Single Sid	ded			
	30-Panel Top Cap Removal Option	STR	(STD) Panel Top Cap		
	20-Frame Color (Panels)	~STD	Standard Paint Options		
	Standard Paint Options	~STD	Panels w/ Matching Horizontal Rev	veal	
	Panels w/ Matching Horizontal Reveal	SDT	Stone Dust (Textured Cappuccino)	) w/ Stone Dust	Reveal
	10-Panel Fabric Grade - Outside Position 1	~GR1	Panel Grade 1		
	Grade 1 - Outside Position 1	01	Outside Position 1		
	Fabric Grade 1	~PN	Pinpoint		
	Pinpoint	PN12	Delight		
	Grade Options - Outside Position 2	~GR1	Grade 1 Fabrics		
	Grade 1 - Outside Position 2	02	Outside Position 2		
	Fabric Grade 1	COM	Grade 1/Customers Own Material		
		TOR	MOMENTUM, PACT, HARBOUR		
	Grade Options - Outside Position 3	~GR1	Grade 1 Fabrics		
	Grade 1 - Outside Position 3	03	Outside Position 3		
	Fabric Grade 1	COM	Grade 1/Customers Own Material		
		TOR	MOMENTUM, PACT, HARBOUR		
	Grade Options - Inside Position 1	~GR1	Grade 1 Fabrics		
	Grade 1 - Inside Position 1	I1	Inside Position 1		
	Fabric Grade 1	~PN	Pinpoint		
	Pinpoint	PN12	Delight		
	Inside Position 2 (SW)	I2	ST		
	Grade Options - Inside Position 3	~GR1	Grade 1 Fabrics		
	Grade 1 - Inside Position 3	I3	Inside Position 3		



Date: 1/27/2022 Reference #: 559537

**Town of Prosper**Dan Heischman

Brenda Reber Business Development Manager 972.804.4808 ph brenda.reber@workspaceinteriorsod.com

Prosper TX

Item	Qty Product		Sell Price:	Unit	Extended
	Fabric Grade 1	COM	Grade 1/Customers Own Material		
		TOR	MOMENTUM, PACT, HARBOUR		
36	1 EVPF1S6648M			\$440.81	\$440.81
	66"h x 48"w, Slatwall Panel (12" SW), Single Sid	ded		,	,
	30-Panel Top Cap Removal Option	STR	(STD) Panel Top Cap		
	20-Frame Color (Panels)	~STD	Standard Paint Options		
	Standard Paint Options	~STD	Panels w/ Matching Horizontal Reve	eal	
	Panels w/ Matching Horizontal Reveal	SDT	Stone Dust (Textured Cappuccino)	w/ Stone Dust	Reveal
	10-Panel Fabric Grade - Outside Position 1	~GR1	Panel Grade 1		
	Grade 1 - Outside Position 1	01	Outside Position 1		
	Fabric Grade 1	~PN	Pinpoint		
	Pinpoint	PN12	Delight		
	Grade Options - Outside Position 2	~GR1	Grade 1 Fabrics		
	Grade 1 - Outside Position 2	02	Outside Position 2		
	Fabric Grade 1	COM	Grade 1/Customers Own Material		
		TOR	MOMENTUM, PACT, HARBOUR		
	Grade Options - Outside Position 3	~GR1	Grade 1 Fabrics		
	Grade 1 - Outside Position 3	03	Outside Position 3		
	Fabric Grade 1	COM	Grade 1/Customers Own Material		
		TOR	MOMENTUM, PACT, HARBOUR		
	Grade Options - Inside Position 1	~GR1	Grade 1 Fabrics		
	Grade 1 - Inside Position 1	I1	Inside Position 1		
	Fabric Grade 1	~PN	Pinpoint		
	Pinpoint	PN12	Delight		
	Inside Position 2 (SW)	I2	ST		
	Grade Options - Inside Position 3	~GR1	Grade 1 Fabrics		
	Grade 1 - Inside Position 3	13	Inside Position 3		
	Fabric Grade 1	COM	Grade 1/Customers Own Material		
		TOR	MOMENTUM, PACT, HARBOUR		
37	1 EVPF1W6642			\$344.00	\$344.00
	66"h x 42"w, Writeboard Panel, Single Sided			, -	, -
	30-Panel Top Cap Removal Option	STR	(STD) Panel Top Cap		
	20-Frame Color (Panels)	~STD	Standard Paint Options		
	Standard Paint Options	~STD	Panels w/ Matching Horizontal Reve	eal	
	Panels w/ Matching Horizontal Reveal	SDT	Stone Dust (Textured Cappuccino)	w/ Stone Dust	Reveal
	10-Panel Fabric Grade - Outside Position 1	~GR1	Panel Grade 1		
	Grade 1 - Outside Position 1	01	Outside Position 1		



Date: 1/27/2022 Reference #: 559537

**Town of Prosper**Dan Heischman

Brenda Reber Business Development Manager 972.804.4808 ph brenda.reber@workspaceinteriorsod.com

Prosper TX

Item Qty Product		Sell Price:	Unit	Extended
Fabric Grade 1	~PN	Pinpoint		
Pinpoint	PN12	Delight		
Grade Options - Outside Position 2	~GR1	Grade 1 Fabrics		
Grade 1 - Outside Position 2	O2	Outside Position 2		
Fabric Grade 1	COM	Grade 1/Customers Own Material		
	TOR	MOMENTUM, PACT, HARBOUR		
Grade Options - Outside Position 3	~GR1	Grade 1 Fabrics		
Grade 1 - Outside Position 3	О3	Outside Position 3		
Fabric Grade 1	COM	Grade 1/Customers Own Material		
	TOR	MOMENTUM, PACT, HARBOUR		
Grade Options - Inside Position 1	~GR1	Grade 1 Fabrics		
Grade 1 - Inside Position 1	I1	Inside Position 1		
Fabric Grade 1	~PN	Pinpoint		
Pinpoint	PN12	Delight		
Grade Options - Inside Position 2	~GR1	Grade 1 Fabrics		
Grade 1 - Inside Position 2	I2	Inside Position 2		
Fabric Grade 1	COM	Grade 1/Customers Own Material		
	TOR	MOMENTUM, PACT, HARBOUR		
Inside Position 3 (WB)	13	WB		
38 3 <b>EVPF1W6648</b>			\$384.25	\$1,152.75
66"h x 48"w, Writeboard Panel, Single Sided			•	. ,
30-Panel Top Cap Removal Option	STR	(STD) Panel Top Cap		
20-Frame Color (Panels)	~STD	Standard Paint Options		
Standard Paint Options	~STD	Panels w/ Matching Horizontal Reve	eal	
Panels w/ Matching Horizontal Reveal	SDT	Stone Dust (Textured Cappuccino)	w/ Stone Dust	Reveal
10-Panel Fabric Grade - Outside Position 1	~GR1	Panel Grade 1		
Grade 1 - Outside Position 1	01	Outside Position 1		
Fabric Grade 1	~PN	Pinpoint		
Pinpoint	PN12	Delight		
Grade Options - Outside Position 2	~GR1	Grade 1 Fabrics		
Grade 1 - Outside Position 2	02	Outside Position 2		
Fabric Grade 1	COM	Grade 1/Customers Own Material		
	TOR	MOMENTUM, PACT, HARBOUR		
Grade Options - Outside Position 3	~GR1	Grade 1 Fabrics		
Grade 1 - Outside Position 3	03	Outside Position 3		
Fabric Grade 1	COM	Grade 1/Customers Own Material		
	TOR	MOMENTUM, PACT, HARBOUR		
Grade Options - Inside Position 1	~GR1	Grade 1 Fabrics		



Date: 1/27/2022 Reference #: 559537

**Town of Prosper**Dan Heischman

Brenda Reber Business Development Manager 972.804.4808 ph brenda.reber@workspaceinteriorsod.com

Prosper TX

tem Qty Product		Sell Price:	Unit	Extended
Grade 1 - Inside Position 1	I1	Inside Position 1		
Fabric Grade 1	~PN	Pinpoint		
Pinpoint	PN12	Delight		
Grade Options - Inside Position 2	~GR1	Grade 1 Fabrics		
Grade 1 - Inside Position 2	I2	Inside Position 2		
Fabric Grade 1	COM	Grade 1/Customers Own Material		
	TOR	MOMENTUM, PACT, HARBOUR		
Inside Position 3 (WB)	13	WB		
39 1 <b>EVPF1W6654</b>			\$427.15	\$427.1
66"h x 54"w, Writeboard Panel, Single Sided				
30-Panel Top Cap Removal Option	STR	(STD) Panel Top Cap		
20-Frame Color (Panels)	~STD	Standard Paint Options		
Standard Paint Options	~STD	Panels w/ Matching Horizontal Rev	veal	
Panels w/ Matching Horizontal Reveal	SDT	Stone Dust (Textured Cappuccino	) w/ Stone Dust	Reveal
10-Panel Fabric Grade - Outside Position 1	~GR1	Panel Grade 1		
Grade 1 - Outside Position 1	01	Outside Position 1		
Fabric Grade 1	~PN	Pinpoint		
Pinpoint	PN12	Delight		
Grade Options - Outside Position 2	~GR1	Grade 1 Fabrics		
Grade 1 - Outside Position 2	02	Outside Position 2		
Fabric Grade 1	COM	Grade 1/Customers Own Material		
	TOR	MOMENTUM, PACT, HARBOUR		
Grade Options - Outside Position 3	~GR1	Grade 1 Fabrics		
Grade 1 - Outside Position 3	О3	Outside Position 3		
Fabric Grade 1	COM	Grade 1/Customers Own Material		
	TOR	MOMENTUM, PACT, HARBOUR		
Grade Options - Inside Position 1	~GR1	Grade 1 Fabrics		
Grade 1 - Inside Position 1	I1	Inside Position 1		
Fabric Grade 1	~PN	Pinpoint		
Pinpoint	PN12	Delight		
Grade Options - Inside Position 2	~GR1	Grade 1 Fabrics		
Grade 1 - Inside Position 2	I2	Inside Position 2		
Fabric Grade 1	COM	Grade 1/Customers Own Material		
	TOR	MOMENTUM, PACT, HARBOUR		
Inside Position 3 (WB)	I3	WB		
40 1 <b>EVPF2S6642M</b>			\$481.45	\$481.4
66"h x 42"w, Slatwall Panel (12" SW), Double S	Sided			



Date: 1/27/2022 Reference #: 559537

**Town of Prosper**Dan Heischman

Brenda Reber Business Development Manager 972.804.4808 ph brenda.reber@workspaceinteriorsod.com

Prosper TX

Item	Qty Product		Sell Price: Unit Extended
	30-Panel Top Cap Removal Option	STR	(STD) Panel Top Cap
	20-Frame Color (Panels)	~STD	Standard Paint Options
	Standard Paint Options	~STD	Panels w/ Matching Horizontal Reveal
	Panels w/ Matching Horizontal Reveal	SDT	Stone Dust (Textured Cappuccino) w/ Stone Dust Reveal
	10-Panel Fabric Grade - Outside Position 1	~GR1	Panel Grade 1
	Grade 1 - Outside Position 1	01	Outside Position 1
	Fabric Grade 1	~PN	Pinpoint
	Pinpoint	PN12	Delight
	Outside Position 2 (SW)	02	ST
	Grade Options - Outside Position 3	~GR1	Grade 1 Fabrics
	Grade 1 - Outside Position 3	О3	Outside Position 3
	Fabric Grade 1	COM	Grade 1/Customers Own Material
		TOR	MOMENTUM, PACT, HARBOUR
	Grade Options - Inside Position 1	~GR1	Grade 1 Fabrics
	Grade 1 - Inside Position 1	I1	Inside Position 1
	Fabric Grade 1	~PN	Pinpoint
	Pinpoint	PN12	Delight
	Inside Position 2 (SW)	I2	ST
	Grade Options - Inside Position 3	~GR1	Grade 1 Fabrics
	Grade 1 - Inside Position 3	13	Inside Position 3
	Fabric Grade 1	COM	Grade 1/Customers Own Material
		TOR	MOMENTUM, PACT, HARBOUR
41	1 EVPF2S6648		\$555.49 \$555.49
	66"h x 48"w, Slatwall Panel, Double Sided		
	30-Panel Top Cap Removal Option	STR	(STD) Panel Top Cap
	20-Frame Color (Panels)	~STD	Standard Paint Options
	Standard Paint Options	~STD	Panels w/ Matching Horizontal Reveal
	Panels w/ Matching Horizontal Reveal	SDT	Stone Dust (Textured Cappuccino) w/ Stone Dust Reveal
	10-Panel Fabric Grade - Outside Position 1	~GR1	Panel Grade 1
	Grade 1 - Outside Position 1	01	Outside Position 1
	Fabric Grade 1	~PN	Pinpoint
	Pinpoint	PN12	Delight
	Grade Options - Outside Position 2	~GR1	Grade 1 Fabrics
	Grade 1 - Outside Position 2	02	Outside Position 2
	Fabric Grade 1	COM	Grade 1/Customers Own Material
		TOR	MOMENTUM, PACT, HARBOUR
	Outside Position 3 (SW)	О3	ST
	Grade Options - Inside Position 1	~GR1	Grade 1 Fabrics



Date: 1/27/2022 Reference #: 559537

**Town of Prosper**Dan Heischman

Brenda Reber Business Development Manager 972.804.4808 ph brenda.reber@workspaceinteriorsod.com

Prosper TX

Item	Qty Product		Sell Price:	Unit	<b>Extended</b>
	Grade 1 - Inside Position 1	I1	Inside Position 1		
	Fabric Grade 1	~PN	Pinpoint		
	Pinpoint	PN12	Delight		
	Grade Options - Inside Position 2	~GR1	Grade 1 Fabrics		
	Grade 1 - Inside Position 2	I2	Inside Position 2		
	Fabric Grade 1	COM	Grade 1/Customers Own Material		
		TOR	MOMENTUM, PACT, HARBOUR		
	Inside Position 3 (SW)	I3	ST		
42	1 EVPF2S6648M			\$539.16	\$539.16
	66"h x 48"w, Slatwall Panel (12" SW), Double S	ided		•	·
	30-Panel Top Cap Removal Option	STR	(STD) Panel Top Cap		
	20-Frame Color (Panels)	~STD	Standard Paint Options		
	Standard Paint Options	~STD	Panels w/ Matching Horizontal Reve	eal	
	Panels w/ Matching Horizontal Reveal	SDT	Stone Dust (Textured Cappuccino)	w/ Stone Dust	Reveal
	10-Panel Fabric Grade - Outside Position 1	~GR1	Panel Grade 1		
	Grade 1 - Outside Position 1	01	Outside Position 1		
	Fabric Grade 1	~PN	Pinpoint		
	Pinpoint	PN12	Delight		
	Outside Position 2 (SW)	02	ST		
	Grade Options - Outside Position 3	~GR1	Grade 1 Fabrics		
	Grade 1 - Outside Position 3	O3	Outside Position 3		
	Fabric Grade 1	COM	Grade 1/Customers Own Material		
		TOR	MOMENTUM, PACT, HARBOUR		
	Grade Options - Inside Position 1	~GR1	Grade 1 Fabrics		
	Grade 1 - Inside Position 1	I1	Inside Position 1		
	Fabric Grade 1	~PN	Pinpoint		
	Pinpoint	PN12	Delight		
	Inside Position 2 (SW)	I2	ST		
	Grade Options - Inside Position 3	~GR1	Grade 1 Fabrics		
	Grade 1 - Inside Position 3	I3	Inside Position 3		
	Fabric Grade 1	COM	Grade 1/Customers Own Material		
		TOR	MOMENTUM, PACT, HARBOUR		
43	2 EVPFA4224			\$119.23	\$238.46
	42"h x 24"w, Segmented Fabric Acoustic Panel				
	30-Panel Top Cap Removal Option	STR	(STD) Panel Top Cap		
	20-Frame Color (Panels)	~STD	Standard Paint Options		
	Standard Paint Options	~STD	Panels w/ Matching Horizontal Reve	eal	



Date: 1/27/2022 Reference #: 559537

**Town of Prosper**Dan Heischman

Brenda Reber Business Development Manager 972.804.4808 ph brenda.reber@workspaceinteriorsod.com

Prosper TX

Item (	Qty Product		Sell Price:	Unit	Extended
	Panels w/ Matching Horizontal Reveal	SDT	Stone Dust (Textured Cappuccino)	w/ Stone Dust	Reveal
	10-Panel Fabric Grade - Outside Position 1	~GR1	Panel Grade 1		
	Grade 1 - Outside Position 1	01	Outside Position 1		
	Fabric Grade 1	~PN	Pinpoint		
	Pinpoint	PN12	Delight		
	Grade Options - Outside Position 2	~GR1	Grade 1 Fabrics		
	Grade 1 - Outside Position 2	02	Outside Position 2		
	Fabric Grade 1	COM	Grade 1/Customers Own Material		
		TOR	MOMENTUM, PACT, HARBOUR		
	Grade Options - Inside Position 1	~GR1	Grade 1 Fabrics		
	Grade 1 - Inside Position 1	I1	Inside Position 1		
	Fabric Grade 1	~PN	Pinpoint		
	Pinpoint	PN12	Delight		
	Grade Options - Inside Position 2	~GR1	Grade 1 Fabrics		
	Grade 1 - Inside Position 2	I2	Inside Position 2		
	Fabric Grade 1	COM	Grade 1/Customers Own Material		
		TOR	MOMENTUM, PACT, HARBOUR		
44	2 EVPFA4242			\$169.73	\$339.46
	42"h x 42"w, Segmented Fabric Acoustic Panel				
	30-Panel Top Cap Removal Option	STR	(STD) Panel Top Cap		
	20-Frame Color (Panels)	~STD	Standard Paint Options		
	Standard Paint Options	~STD	Panels w/ Matching Horizontal Reve	eal	
	Panels w/ Matching Horizontal Reveal	SDT	Stone Dust (Textured Cappuccino)	w/ Stone Dust	Reveal
	10-Panel Fabric Grade - Outside Position 1	~GR1	Panel Grade 1		
	Grade 1 - Outside Position 1	01	Outside Position 1		
	Fabric Grade 1	~PN	Pinpoint		
	Pinpoint	PN12	Delight		
	Grade Options - Outside Position 2	~GR1	Grade 1 Fabrics		
	Grade 1 - Outside Position 2	02	Outside Position 2		
	Fabric Grade 1	COM	Grade 1/Customers Own Material		
		TOR	MOMENTUM, PACT, HARBOUR		
	Grade Options - Inside Position 1	~GR1	Grade 1 Fabrics		
	Grade 1 - Inside Position 1	I1	Inside Position 1		
	Fabric Grade 1	~PN	Pinpoint		
	Pinpoint	PN12	Delight		
	Grade Options - Inside Position 2	~GR1	Grade 1 Fabrics		
	Grade 1 - Inside Position 2	I2	Inside Position 2		
	Fabric Grade 1	COM	Grade 1/Customers Own Material		



Date: 1/27/2022

Reference #: 559537

## **Town of Prosper** Dan Heischman

Brenda Reber Business Development Manager 972.804.4808 ph brenda.reber@workspaceinteriorsod.com

TX Prosper

[tem	Qty Product		Sell Price:	Unit	Extended
		TOR	MOMENTUM, PACT, HARBOUR		
45	2 EVPFA4248			\$182.25	\$364.50
	42"h x 48"w, Segmented Fabric Acoustic Panel			7-5	7-0-1-0-1
	30-Panel Top Cap Removal Option	STR	(STD) Panel Top Cap		
	20-Frame Color (Panels)	~STD	Standard Paint Options		
	Standard Paint Options	~STD	Panels w/ Matching Horizontal Rev	eal	
	Panels w/ Matching Horizontal Reveal	SDT	Stone Dust (Textured Cappuccino)	w/ Stone Dust	Reveal
	10-Panel Fabric Grade - Outside Position 1	~GR1	Panel Grade 1		
	Grade 1 - Outside Position 1	01	Outside Position 1		
	Fabric Grade 1	~PN	Pinpoint		
	Pinpoint	PN12	Delight		
	Grade Options - Outside Position 2	~GR1	Grade 1 Fabrics		
	Grade 1 - Outside Position 2	02	Outside Position 2		
	Fabric Grade 1	COM	Grade 1/Customers Own Material		
		TOR	MOMENTUM, PACT, HARBOUR		
	Grade Options - Inside Position 1	~GR1	Grade 1 Fabrics		
	Grade 1 - Inside Position 1	I1	Inside Position 1		
	Fabric Grade 1	~PN	Pinpoint		
	Pinpoint	PN12	Delight		
	Grade Options - Inside Position 2	~GR1	Grade 1 Fabrics		
	Grade 1 - Inside Position 2	I2	Inside Position 2		
	Fabric Grade 1	COM	Grade 1/Customers Own Material		
		TOR	MOMENTUM, PACT, HARBOUR		
46	5 <b>EVPFA6630</b>			\$181.49	\$907.4
	66"h x 30"w, Segmented Fabric Acoustic Panel				
	30-Panel Top Cap Removal Option	STR	(STD) Panel Top Cap		
	20-Frame Color (Panels)	~STD	Standard Paint Options		
	Standard Paint Options	~STD	Panels w/ Matching Horizontal Rev	eal	
	Panels w/ Matching Horizontal Reveal	SDT	Stone Dust (Textured Cappuccino)	w/ Stone Dust	Reveal
	10-Panel Fabric Grade - Outside Position 1	~GR1	Panel Grade 1		
	Grade 1 - Outside Position 1	01	Outside Position 1		
	Fabric Grade 1	~PN	Pinpoint		
	Pinpoint	PN12	Delight		
	Grade Options - Outside Position 2	~GR1	Grade 1 Fabrics		
	Grade 1 - Outside Position 2	02	Outside Position 2		
	Fabric Grade 1	COM	Grade 1/Customers Own Material		
		TOR	MOMENTUM, PACT, HARBOUR		



Date: 1/27/2022 Reference #: 559537

**Town of Prosper** 

Brenda Reber Business Development Manager 972.804.4808 ph brenda.reber@workspaceinteriorsod.com Dan Heischman

Prosper TX

Item	Qty	Product		Sell Price:	Unit	Extended
		Grade Options - Outside Position 3	~GR1	Grade 1 Fabrics		
		Grade 1 - Outside Position 3	03	Outside Position 3		
		Fabric Grade 1	COM	Grade 1/Customers Own Material		
			TOR	MOMENTUM, PACT, HARBOUR		
		Grade Options - Inside Position 1	~GR1	Grade 1 Fabrics		
		Grade 1 - Inside Position 1	I1	Inside Position 1		
		Fabric Grade 1	~PN	Pinpoint		
		Pinpoint	PN12	Delight		
		Grade Options - Inside Position 2	~GR1	Grade 1 Fabrics		
		Grade 1 - Inside Position 2	I2	Inside Position 2		
		Fabric Grade 1	COM	Grade 1/Customers Own Material		
			TOR	MOMENTUM, PACT, HARBOUR		
		Grade Options - Inside Position 3	~GR1	Grade 1 Fabrics		
		Grade 1 - Inside Position 3	I3	Inside Position 3		
		Fabric Grade 1	COM	Grade 1/Customers Own Material		
			TOR	MOMENTUM, PACT, HARBOUR		
47	8	EVPFA6642			\$239.59	\$1,916.72
		66"h x 42"w, Segmented Fabric Acoustic Panel				
		30-Panel Top Cap Removal Option	STR	(STD) Panel Top Cap		
		20-Frame Color (Panels)	~STD	Standard Paint Options		
		Standard Paint Options	~STD	Panels w/ Matching Horizontal Revea	al	
		Panels w/ Matching Horizontal Reveal	SDT	Stone Dust (Textured Cappuccino) w	/ Stone Dust	Reveal
		10-Panel Fabric Grade - Outside Position 1	~GR1	Panel Grade 1		
		Grade 1 - Outside Position 1	01	Outside Position 1		
		Fabric Grade 1	~PN	Pinpoint		
		Pinpoint	PN12	Delight		
		Grade Options - Outside Position 2	~GR1	Grade 1 Fabrics		
		Grade 1 - Outside Position 2	02	Outside Position 2		
		Fabric Grade 1	COM	Grade 1/Customers Own Material		
			TOR	MOMENTUM, PACT, HARBOUR		
		Grade Options - Outside Position 3	~GR1	Grade 1 Fabrics		
		Grade 1 - Outside Position 3	03	Outside Position 3		
		Fabric Grade 1	COM	Grade 1/Customers Own Material		
			TOR	MOMENTUM, PACT, HARBOUR		
		Grade Options - Inside Position 1	~GR1	Grade 1 Fabrics		
		Grade 1 - Inside Position 1	I1	Inside Position 1		
		Fabric Grade 1	~PN	Pinpoint		
		Pinpoint	PN12	Delight		



Date: 1/27/2022 Reference #: 559537

**Town of Prosper**Dan Heischman

Brenda Reber Business Development Manager 972.804.4808 ph brenda.reber@workspaceinteriorsod.com

Prosper TX

Item Qty	Product		Sell Price:	Unit	Extended
	Grade Options - Inside Position 2	~GR1	Grade 1 Fabrics		
	Grade 1 - Inside Position 2	I2	Inside Position 2		
	Fabric Grade 1	COM	Grade 1/Customers Own Material		
		TOR	MOMENTUM, PACT, HARBOUR		
	Grade Options - Inside Position 3	~GR1	Grade 1 Fabrics		
	Grade 1 - Inside Position 3	13	Inside Position 3		
	Fabric Grade 1	COM	Grade 1/Customers Own Material		
		TOR	MOMENTUM, PACT, HARBOUR		
48 4 1	EVPFP5424			\$150.74	\$602.96
!	54"h x 24"w, Segmented Premium Fabric Acous	tic Panel			
	30-Panel Top Cap Removal Option	STR	(STD) Panel Top Cap		
	20-Frame Color (Panels)	~STD	Standard Paint Options		
	Standard Paint Options	~STD	Panels w/ Matching Horizontal Rev	eal	
	Panels w/ Matching Horizontal Reveal	SDT	Stone Dust (Textured Cappuccino)	w/ Stone Dust	Reveal
	10-Panel Fabric Grade - Outside Position 1	~GR1	Panel Grade 1		
	Grade 1 - Outside Position 1	01	Outside Position 1		
	Fabric Grade 1	~PN	Pinpoint		
	Pinpoint	PN12	Delight		
	Grade Options - Outside Position 2	~GR1	Grade 1 Fabrics		
	Grade 1 - Outside Position 2	02	Outside Position 2		
	Fabric Grade 1	COM	Grade 1/Customers Own Material		
		TOR	MOMENTUM, PACT, HARBOUR		
	Grade Options - Outside Position 3	~GR1	Grade 1 Fabrics		
	Grade 1 - Outside Position 3	03	Outside Position 3		
	Fabric Grade 1	COM	Grade 1/Customers Own Material		
		TOR	MOMENTUM, PACT, HARBOUR		
	Grade Options - Inside Position 1	~GR1	Grade 1 Fabrics		
	Grade 1 - Inside Position 1	I1	Inside Position 1		
	Fabric Grade 1	~PN	Pinpoint		
	Pinpoint	PN12	Delight		
	Grade Options - Inside Position 2	~GR1	Grade 1 Fabrics		
	Grade 1 - Inside Position 2	I2	Inside Position 2		
	Fabric Grade 1	COM	Grade 1/Customers Own Material		
		TOR	MOMENTUM, PACT, HARBOUR		
	Grade Options - Inside Position 3	~GR1	Grade 1 Fabrics		
	Grade 1 - Inside Position 3	I3	Inside Position 3		
	Fabric Grade 1	COM	Grade 1/Customers Own Material		
		TOR	MOMENTUM, PACT, HARBOUR		



Date: 1/27/2022

Reference #: 559537

## **Town of Prosper** Dan Heischman

Brenda Reber Business Development Manager 972.804.4808 ph brenda.reber@workspaceinteriorsod.com

TX Prosper

Item	Qty Product		Sell Price:	Unit	Extended
49	2 EVPFP5430			\$165.93	\$331.86
	54"h x 30"w, Segmented Premium Fabric Acous	tic Panel			
	30-Panel Top Cap Removal Option	STR	(STD) Panel Top Cap		
	20-Frame Color (Panels)	~STD	Standard Paint Options		
	Standard Paint Options	~STD	Panels w/ Matching Horizontal Rev	eal	
	Panels w/ Matching Horizontal Reveal	SDT	Stone Dust (Textured Cappuccino)	w/ Stone Dust	Reveal
	10-Panel Fabric Grade - Outside Position 1	~GR1	Panel Grade 1		
	Grade 1 - Outside Position 1	01	Outside Position 1		
	Fabric Grade 1	~PN	Pinpoint		
	Pinpoint	PN12	Delight		
	Grade Options - Outside Position 2	~GR1	Grade 1 Fabrics		
	Grade 1 - Outside Position 2	02	Outside Position 2		
	Fabric Grade 1	COM	Grade 1/Customers Own Material		
		TOR	MOMENTUM, PACT, HARBOUR		
	Grade Options - Outside Position 3	~GR1	Grade 1 Fabrics		
	Grade 1 - Outside Position 3	03	Outside Position 3		
	Fabric Grade 1	COM	Grade 1/Customers Own Material		
		TOR	MOMENTUM, PACT, HARBOUR		
	Grade Options - Inside Position 1	~GR1	Grade 1 Fabrics		
	Grade 1 - Inside Position 1	I1	Inside Position 1		
	Fabric Grade 1	~PN	Pinpoint		
	Pinpoint	PN12	Delight		
	Grade Options - Inside Position 2	~GR1	Grade 1 Fabrics		
	Grade 1 - Inside Position 2	I2	Inside Position 2		
	Fabric Grade 1	COM	Grade 1/Customers Own Material		
		TOR	MOMENTUM, PACT, HARBOUR		
	Grade Options - Inside Position 3	~GR1	Grade 1 Fabrics		
	Grade 1 - Inside Position 3	I3	Inside Position 3		
	Fabric Grade 1	COM	Grade 1/Customers Own Material		
		TOR	MOMENTUM, PACT, HARBOUR		
50	6 EVPFP5442			\$220.98	\$1,325.88
	54"h x 42"w, Segmented Premium Fabric Acous	tic Panel			
	30-Panel Top Cap Removal Option	STR	(STD) Panel Top Cap		
	20-Frame Color (Panels)	~STD	Standard Paint Options		
	Standard Paint Options	~STD	Panels w/ Matching Horizontal Rev	eal	
	Panels w/ Matching Horizontal Reveal	SDT	Stone Dust (Textured Cappuccino)		Reveal
	10-Panel Fabric Grade - Outside Position 1	~GR1	Panel Grade 1		



Date: 1/27/2022 Reference #: 559537

**Town of Prosper**Dan Heischman

Brenda Reber Business Development Manager 972.804.4808 ph brenda.reber@workspaceinteriorsod.com

Prosper TX

Item	Qty Product		Sell Price:	Unit	Extended
	Grade 1 - Outside Position 1	01	Outside Position 1		
	Fabric Grade 1	~PN	Pinpoint		
	Pinpoint	PN12	Delight		
	Grade Options - Outside Position 2	~GR1	Grade 1 Fabrics		
	Grade 1 - Outside Position 2	02	Outside Position 2		
	Fabric Grade 1	COM	Grade 1/Customers Own Material		
		TOR	MOMENTUM, PACT, HARBOUR		
	Grade Options - Outside Position 3	~GR1	Grade 1 Fabrics		
	Grade 1 - Outside Position 3	03	Outside Position 3		
	Fabric Grade 1	COM	Grade 1/Customers Own Material		
		TOR	MOMENTUM, PACT, HARBOUR		
	Grade Options - Inside Position 1	~GR1	Grade 1 Fabrics		
	Grade 1 - Inside Position 1	I1	Inside Position 1		
	Fabric Grade 1	~PN	Pinpoint		
	Pinpoint	PN12	Delight		
	Grade Options - Inside Position 2	~GR1	Grade 1 Fabrics		
	Grade 1 - Inside Position 2	I2	Inside Position 2		
	Fabric Grade 1	COM	Grade 1/Customers Own Material		
		TOR	MOMENTUM, PACT, HARBOUR		
	Grade Options - Inside Position 3	~GR1	Grade 1 Fabrics		
	Grade 1 - Inside Position 3	I3	Inside Position 3		
	Fabric Grade 1	COM	Grade 1/Customers Own Material		
		TOR	MOMENTUM, PACT, HARBOUR		
51	2 EVPIC42			\$24.30	\$48.60
	42"h, Inline Panel Connector, Includes Post & H	lardware, N	o Trim	,	,
	20-Paint Colors (Inline Connectors)	~STD	Standard Paint Options		
	Standard Paint Options	~STD	Inline Connectors (Use w/ Matching	Horizontal Re	eveal)
	Inline Connectors (Use w/ Matching Horizontal Reveal)	SDT	Stone Dust Inline (Use w/ Matching	Horizontal Re	veal) (Textured (
52	1 <b>EVPIC54</b>			\$26.20	\$26.20
	54"h, Inline Panel Connector, Includes Post & H	lardware, N	o Trim	, -	, ,
	20-Paint Colors (Inline Connectors)	~STD	Standard Paint Options		
	Standard Paint Options	~STD	Inline Connectors (Use w/ Matching	Horizontal Re	eveal)
	Inline Connectors (Use w/ Matching Horizontal Reveal)	SDT	Stone Dust Inline (Use w/ Matching	Horizontal Re	veal) (Textured (
53	1 <b>EVPIC54</b>			\$26.20	\$26.20
- <del>-</del>	54"h, Inline Panel Connector, Includes Post & H	lardware, N	o Trim	,	7-3-20
	20-Paint Colors (Inline Connectors)	~STD	Standard Paint Options		



Date: 1/27/2022

Reference #: 559537

# **Town of Prosper**

Brenda Reber Business Development Manager 972.804.4808 ph brenda.reber@workspaceinteriorsod.com Dan Heischman

Prosper TX

Item	Qty	Product		Sell Price:	Unit	Extended
		Standard Paint Options	~STD	Inline Connectors (Use w/ Matching	g Horizontal Re	eveal)
	Inli	ne Connectors (Use w/ Matching Horizontal Reveal)	SDT	Stone Dust Inline (Use w/ Matching	Horizontal Re	eveal) (Textured (
54	2	EVPIC66			\$28.86	\$57.72
	66"h, Inline Panel Connector, Includes Post & Hardware, No Trim					·
		20-Paint Colors (Inline Connectors)	~STD	Standard Paint Options		
		Standard Paint Options	~STD	Inline Connectors (Use w/ Matching	g Horizontal Re	eveal)
	Inlii	ne Connectors (Use w/ Matching Horizontal Reveal)	SDT	Stone Dust Inline (Use w/ Matching	Horizontal Re	eveal) (Textured (
55	4	EVPMP24GIP			\$102.14	\$408.56
		12"h x 24"w, Panel Mount Privacy Glass, Integra Aluminum Top Trim for Square Glass	ated Channe	el Extrusion with	·	·
		20-Paint Colors	~STD	Standard Paint Colors		
		Standard Paint Colors	SDT	Stone Dust (Textured Cappuccino)		
		54-Privacy Glazing	~I1	Privacy Glazing Option		
		Privacy Glazing	FRST	Frosted		
56	1	EVPMP30GIP			\$104.04	\$104.04
		12"h x 30"w, Panel Mount Privacy Glass, Integra Aluminum Top Trim for Square Glass	ated Channe	el Extrusion with		
		20-Paint Colors	~STD	Standard Paint Colors		
		Standard Paint Colors	SDT	Stone Dust (Textured Cappuccino)		
		54-Privacy Glazing	~I1	Privacy Glazing Option		
		Privacy Glazing	FRST	Frosted		
57	1	EVPMP30GIP			\$104.04	\$104.04
		12"h x 30"w, Panel Mount Privacy Glass, Integra Aluminum Top Trim for Square Glass	ated Channe	el Extrusion with		
		20-Paint Colors	~STD	Standard Paint Colors		
		Standard Paint Colors	SDT	Stone Dust (Textured Cappuccino)		
		54-Privacy Glazing	~I1	Privacy Glazing Option		
		Privacy Glazing	FRST	Frosted		
58	4	EVPMP42GIP			\$116.95	\$467.80
		12"h x 42"w, Panel Mount Privacy Glass, Integra Aluminum Top Trim for Square Glass	ated Channe	el Extrusion with		
		20-Paint Colors	~STD	Standard Paint Colors		
		Standard Paint Colors	SDT	Stone Dust (Textured Cappuccino)		
		54-Privacy Glazing	~I1	Privacy Glazing Option		
		Privacy Glazing	FRST	Frosted		
59	2	EVPMPN42GIP			\$116.95	\$233.90
		12"h x 42"w, Single Notched Panel Mount Privac Extrusion with Aluminum Top Trim for Square G		tegrated Channel		



Date: 1/27/2022

Reference #: 559537

# **Town of Prosper**

Brenda Reber Business Development Manager 972.804.4808 ph brenda.reber@workspaceinteriorsod.com Dan Heischman

Prosper TX

item Q	ty Product		Sell Price:	Unit	Extended
	20-Paint Colors	~STD	Standard Paint Colors		
	Standard Paint Colors	SDT	Stone Dust (Textured Cappuccino)		
	54-Privacy Glazing	~I1	Privacy Glazing Option		
	Privacy Glazing (43)	FRST	Frosted		
60	2 <b>EVPVC54</b>			\$26.96	\$53.92
	54"h, Inline Variable Height Panel Connector, Ir	ncludes Post	& Hardware, No Trim		
	20-Paint Colors (Inline Connectors)	~STD	Standard Paint Options		
	Standard Paint Options	~STD	Inline Connectors (Use w/ Matching	Horizontal Re	eveal)
	Inline Connectors (Use w/ Matching Horizontal Reveal)	SDT	Stone Dust Inline (Use w/ Matching	Horizontal Re	veal) (Textured (
61	2 EVPVPA266-56			\$87.33	\$174.66
	66"h, Pos.1 54", 2 66", Base Raceway, 2 Way V	ariable Heig	ght Post, Aluminum Trim		
	20-Paint Colors (Alum + Metal)	~STD	Standard Paint Colors		
	Standard Paint Options	~STD	Connectors w/ Matching Inlines (Us	e w/ Matching	Horizontal Reve
nectors w	/ Matching Inlines (Use w/ Matching Horizontal Reveal)	SDT	Stone Dust w/ Stone Dust Inlines (T	extured Capp	uccino)
62	1 EVPVPA266-56			\$87.33	\$87.33
	66"h, Pos.1 54", 2 66", Base Raceway, 2 Way V	ariable Heig	ght Post, Aluminum Trim	·	·
	20-Paint Colors (Alum + Metal)	~STD	Standard Paint Colors		
	Standard Paint Options	~STD	Connectors w/ Matching Inlines (Us	e w/ Matching	Horizontal Reve
nectors w	/ Matching Inlines (Use w/ Matching Horizontal Reveal)	SDT	Stone Dust w/ Stone Dust Inlines (T	extured Capp	uccino)
63	1 EVPVPA266-56			\$87.33	\$87.33
	66"h, Pos.1 54", 2 66", Base Raceway, 2 Way V	ariable Heig	ght Post, Aluminum Trim		
	20-Paint Colors (Alum + Metal)	~STD	Standard Paint Colors		
	Standard Paint Options	~STD	Connectors w/ Matching Inlines (Us	e w/ Matching	Horizontal Reve
nectors w	/ Matching Inlines (Use w/ Matching Horizontal Reveal)	SDT	Stone Dust w/ Stone Dust Inlines (T	extured Capp	uccino)
64	1 EVPVPA266-65			\$87.33	\$87.33
	66"h, Pos.1 66", 2 54", Base Raceway, 2 Way V	ariable Heig	ght Post, Aluminum Trim	·	·
	20-Paint Colors (Alum + Metal)	~STD	Standard Paint Colors		
	Standard Paint Options	~STD	Connectors w/ Matching Inlines (Us	e w/ Matching	Horizontal Reve
nectors w	// Matching Inlines (Use w/ Matching Horizontal Reveal)	SDT	Stone Dust w/ Stone Dust Inlines (T	extured Capp	uccino)
65	1 EVPVPA366-565			\$113.53	\$113.53
	66"h, Pos.1 54", 2 66", 3 54", Base Raceway, 3 Aluminum Trim	Way Variab	le Height Post,		
	20-Paint Colors (Alum + Metal)	~STD	Standard Paint Colors		
	Standard Paint Options	~STD	Connectors w/ Matching Inlines (Us	e w/ Matchino	Horizontal Reve



Date: 1/27/2022

Reference #: 559537

# **Town of Prosper**Dan Heischman

Brenda Reber Business Development Manager 972.804.4808 ph brenda.reber@workspaceinteriorsod.com

Prosper TX

Item (	Qty Product		Sell Price:	Unit	Extended
nnectors v	w/ Matching Inlines (Use w/ Matching Horizontal Reveal)	SDT	Stone Dust w/ Stone Dust Inlines (	Textured Capp	uccino)
66	1 EVPVPA366-665			\$113.53	\$113.5
	66"h, Pos.1 66", 2 66", 3 54", Base Raceway, 3 Aluminum Trim	Way Variab	ole Height Post,		
	20-Paint Colors (Alum + Metal)	~STD	Standard Paint Colors		
	Standard Paint Options	~STD	Connectors w/ Matching Inlines (Us	se w/ Matching	Horizontal Rev
nectors v	w/ Matching Inlines (Use w/ Matching Horizontal Reveal)	SDT	Stone Dust w/ Stone Dust Inlines (	Textured Capp	uccino)
67	3 EVS1218BBF			\$189.46	\$568.3
	18"d x 15"w x 27.75"h, B/B/F Pedestal, Freestar 1200 Series	nding or Wo	rksurface Supporting,	·	·
	SF-Storage Paint Colors	~STD	Standard Paint Colors		
	Standard Paint Colors	SDT	Stone Dust (Textured Cappuccino)		
68	1 EVS1223BBF			\$191.36	\$191.36
	23"d x 15"w x 27.75"h, B/B/F Pedestal, Freestar 1200 Series	nding or Wo	rksurface Supporting,	'	·
	SF-Storage Paint Colors	~STD	Standard Paint Colors		
	Standard Paint Colors	SDT	Stone Dust (Textured Cappuccino)		
69	3 EVS1224FF			\$191.36	\$574.0
	24"d x 15"w x 27.75"h, F/F Pedestal, Freestandi 1200 Series	ng or Work	surface Supporting,		
	SF-Storage Paint Colors	~STD	Standard Paint Colors		
	Standard Paint Colors	SDT	Stone Dust (Textured Cappuccino)		
70	3 EVS1236X1SND			\$376.65	\$1,129.9
	18"d x 36"w, One 12"H Open Lateral Cabinet/ C Series	ne 1/2 Heig	ght Open Shelf, 1200		
	SF-Storage Paint Colors	~STD	Standard Paint Colors		
	Standard Paint Colors	SDT	Stone Dust (Textured Cappuccino)		
71	2 EVS1236X1SND			\$376.65	\$753.30
	18"d x 36"w, One 12"H Open Lateral Cabinet/ C Series	ne 1/2 Heig	ght Open Shelf, 1200		
	SF-Storage Paint Colors	~STD	Standard Paint Colors		
	Standard Paint Colors	SDT	Stone Dust (Textured Cappuccino)		
72	10 EVSLK12			\$16.71	\$167.10
	Lock for Flipper Door Storage				
73	3 EVSOF1224			\$135.93	\$407.79
	14.5"h x 24"w, Overhead Flipper Door Storage	Unit, Lock (	NIC)		
	SF-Storage Paint Colors	~STD	Standard Paint Colors		



Date: 1/27/2022

Reference #: 559537

## **Town of Prosper** Dan Heischman

Brenda Reber Business Development Manager 972.804.4808 ph brenda.reber@workspaceinteriorsod.com

TX Prosper

Item	Qty	Product		Sell Price:	Unit	Extended
		Standard Paint Colors	SDT	Stone Dust (Textured Cappuccino)		
74	2	EVSOF1242			\$171.63	\$343.26
		14.5"h x 42"w, Overhead Flipper Door Storage l	Jnit, Lock (	NIC)	•	·
		SF-Storage Paint Colors	~STD	Standard Paint Colors		
		Standard Paint Colors	SDT	Stone Dust (Textured Cappuccino)		
75	5	EVSOF1248			\$186.43	\$932.15
, ,	J	14.5"h x 48"w, Overhead Flipper Door Storage U	Jnit. Lock (	NIC)	φ1001.15	Ψ332.13
		The mark to my evernedd i lipper been eterage t	orne, Look (			
		SF-Storage Paint Colors	~STD	Standard Paint Colors		
		Standard Paint Colors	SDT	Stone Dust (Textured Cappuccino)		
76	2	EVSOGDL1260			\$388.04	\$776.08
		12"d x 60"w, Overhead w/Sliding Glass Doors, F	rosted Glas	s, Lockable		·
		SF-Storage Paint Colors	~STD	Standard Paint Colors		
		Standard Paint Colors	SDT	Stone Dust (Textured Cappuccino)		
77	2	EVWD3060			\$252.49	\$504.98
		30"d x 60"w, "D" Top Worksurface, Monoleg Inc	cluded, 1 So	coop, 3mm PVC Edge	4	4-2-11-2
		SF-Worksurface Laminates (D Top)	~HP	High Pressure Laminates (1 1/16" T	hickness)	
		20- HP - High Pressure Laminates	TWL	Tiger Walnut		
		45-PVC Trim Colors	TWL	Tiger Walnut (N/A in HPW)		
		80-Paint Colors (WS Mono Post)	~STD	Standard Paint Colors		
		Standard Paint Colors (WS Mono Post)	SDT	Stone Dust (Textured Cappuccino)		
78	3	EVWD3072			\$279.08	\$837.24
		30"d x 72"w, "D" Top Worksurface, Monoleg Inc	cluded, 1 So	coop, 3mm PVC Edge		·
		SF-Worksurface Laminates (D Top)	~HP	High Pressure Laminates (1 1/16" 7	hickness)	
		20- HP - High Pressure Laminates	TWL	Tiger Walnut		
		45-PVC Trim Colors	TWL	Tiger Walnut (N/A in HPW)		
		80-Paint Colors (WS Mono Post)	~STD	Standard Paint Colors		
		Standard Paint Colors (WS Mono Post)	SDT	Stone Dust (Textured Cappuccino)		
79	2	EVWS2442			\$91.50	\$183.00
		24"d x 42"w, Straight Rectangular Worksurface	with Scoop	s, 3mm PVC Edge Trim		
		SF- Worksurface Laminates (Straight)	~HP	High Pressure Laminates (1 1/16" 7	hickness)	
		20- HP - High Pressure Laminates	TWL	Tiger Walnut		
		45-PVC Trim Colors	TWL	Tiger Walnut (N/A in HPW)		



Date: 1/27/2022

Reference #: 559537

# **Town of Prosper**

Dan Heischman

Brenda Reber Business Development Manager 972.804.4808 ph brenda.reber@workspaceinteriorsod.com

TX Prosper

Item	Qty Product		Sell Price:	Unit	Extended
80	2 EVWS2454			\$128.71	\$257.42
	24"d x 54"w, Straight Rectangular Worksurface	with Scoop	s, 3mm PVC Edge Trim		
	SF- Worksurface Laminates (Straight)	~HP	High Pressure Laminates (1 1/16	' Thickness)	
	20- HP - High Pressure Laminates	TWL	Tiger Walnut		
	45-PVC Trim Colors	TWL	Tiger Walnut (N/A in HPW)		
81	4 EVWS2460			\$143.14	\$572.56
	24"d x 60"w, Straight Rectangular Worksurface	with Scoop	s, 3mm PVC Edge Trim		
	SF- Worksurface Laminates (Straight)	~HP	High Pressure Laminates (1 1/16	' Thickness)	
	20- HP - High Pressure Laminates	TWL	Tiger Walnut		
	45-PVC Trim Colors	TWL	Tiger Walnut (N/A in HPW)		
82	1 EVWS2466			\$150.36	\$150.36
	24"d x 66"w, Straight Rectangular Worksurface	with Scoop	s, 3mm PVC Edge Trim		
	SF- Worksurface Laminates (Straight)	~HP	High Pressure Laminates (1 1/16	' Thickness)	
	20- HP - High Pressure Laminates	TWL	Tiger Walnut		
	45-PVC Trim Colors	TWL	Tiger Walnut (N/A in HPW)		
83	4 EVWS2472			\$156.44	\$625.76
	24"d x 72"w, Straight Rectangular Worksurface	with Scoop	s, 3mm PVC Edge Trim		
	SF- Worksurface Laminates (Straight)	~HP	High Pressure Laminates (1 1/16	' Thickness)	
	20- HP - High Pressure Laminates	TWL	Tiger Walnut		
	45-PVC Trim Colors	TWL	Tiger Walnut (N/A in HPW)		
84	2 EVWS2490			\$277.55	\$555.10
	24"d x 90"w, Straight Rectangular Worksurface	with Scoop	s, 3mm PVC Edge Trim		
	SF-Worksurface Laminates (Straight)	~HP	High Pressure Laminates (1 1/16	' Thickness)	
	20- HP - High Pressure Laminates	TWL	Tiger Walnut		
	45-PVC Trim Colors	TWL	Tiger Walnut (N/A in HPW)		
85	1 93PT4-2BFR			\$903.44	\$903.44
	24"d x 24"w x 54"h, BBF, Storage, Right Wardro	obe, 9300 S	SERIES, UNIVERSAL		
	^Metal File Case & Storage Front Paint Finishes	~STD	Metal File Case & Storage Front F	aint Finishes (Gl	obal Standard Pa
	^Global Standard Paint Finishes	~GLO	Global Standard Colors		
	Global Standard Colors	SDT	1-Stonedust (Textured) [SDT]		
	Key Options	W480	C-Keyed For Lock #W480		
86	1 93PT4-2BFR			\$903.44	\$903.44



Date: 1/27/2022

Reference #: 559537

# **Town of Prosper**

Brenda Reber Business Development Manager 972.804.4808 ph brenda.reber@workspaceinteriorsod.com Dan Heischman

Prosper TX

		Product		Sell Price:	Unit	Extended
		24"d x 24"w x 54"h, BBF, Storage, Right Wardr	obe, 9300 SI	ERIES, UNIVERSAL		
		FILING	CTD	Matal File Case 9 Chauses Front	Daint Finishes (C	abal Ctandond D
		^Metal File Case & Storage Front Paint Finishes	~STD	Metal File Case & Storage Front	Paint Finisnes (G	obal Standard Pa
		^Global Standard Paint Finishes	~GLO	Global Standard Colors		
		Global Standard Colors	SDT	1-Stonedust (Textured) [SDT]		
		Key Options	W481	C-Keyed For Lock #W481		
87	120	09118899			\$29.27	\$3,512.40
		COM: MOMENTUM PACT HARBOUR; FOR USE (	ON EVOLVE	PANELS		
88	1	FREIGHT			\$365.85	\$365.85
		COM FREIGHT			·	·
89	6	LOCK-SET-1			\$11.22	\$67.32
		Set of 1 lock and key.				
		Finish	NICKEL	Nickel		
		Key Type	ALIKE	Alike		
		Starting Key #, Nickel	150	150 Standard		
		# of Lock sets	6	6		
90	1	4-2248BR			\$291.71	\$291.71
		Pulse 22x48 Bridge				
		Finish	~TFL-W	TFL Wood Grain		
		Finish	MC2	Mocha (MC2)		
		Edge	EY	Square		
		Grommet	G3	Grommet in Center		
		Grommet Finish	LK	Satin Nickel		
91	1	4-7222FCRR			\$782.44	\$782.44
		Pulse 72x22 Right Full Pedestal Credenza				
		Finish	~TFL-W	TFL Wood Grain		
		Finish	MC2	Mocha (MC2)		
		Edge	EY	Square		
		Pull	Axis	Axis		
		Pull Finish	SNCK	Satin Nckel		
		Grommet	G3	Grommet in Center		
		Lock	LCK1	Requires 1 Lock Core, Locking		
92	1	4-7236SW			\$1,337.07	\$1,337.07



Date: 1/27/2022

Reference #: 559537

# **Town of Prosper**

Brenda Reber Business Development Manager 972.804.4808 ph brenda.reber@workspaceinteriorsod.com Dan Heischman

TX Prosper

Item	Qty	Product		Sell Price:	Unit	Extended
		Pulse 36x72.5 Square-edge Storage Wardrobe				
		Finish	~TFL-W	TFL Wood Grain		
		Finish, TFL - Wood Grain	MC2	Mocha (MC2)		
		Pull	Axis	Axis		
		Pull Finish	SNCK	Satin Nckel		
		Lock	LCK2	Requires 2 Lock Cores, Locking		
93	1	4-7243HD4-2			\$971.71	\$971.71
		Pulse 72x15x42.5 Highback Organizer, 4 Doors				
		Finish	~TFL-W	TFL Wood Grain		
		Finish, TFL - Wood Grain	MC2	Mocha (MC2)		
		Door	JB	TFL Panel		
		Inside Back	W2	No Tackboard		
		Grade, Tackboard	X9	No Selection		
		Fabric	X9	No Selection		
		Lock	LCK2	Requires 2 Lock Cores, Locking		
94	1	4-7248LPDCB			\$1,455.12	\$1,455.12
		Pulse 72x48 Bow-Shaped Cockpit Left Pedestal	Desk			
		Finish	~TFL-W	TFL Wood Grain		
		Finish	MC2	Mocha (MC2)		
		Edge	EY	Square		
		Pull	Axis	Axis		
		Pull Finish	SNCK	Satin Nckel		
		Grommet	KP	With Grommet		
		Lock	LCK1	Requires 1 Lock Core, Locking		
95	1	FT1087			\$360.00	\$360.00
		Pulse 70.375x22.625 Fabric Tackboard for 4-72	43HD4-2			
		Grade, Tackboard	4	Grade 4 Material		
		Grade 4 Material	ETC4	Non-Carded Grade 4 Material		
			TOR	MOMENTUM, INSIGHT, SUMMIT		
96	4	1033.BK2.F.AR6			\$429.27	\$1,717.08
		Novo, Highback, Mesh Back, Standard Synchro	, Multi-Adj A	rms		
		Adjustable Lumbar Color Selection	AL1	Black		
		Lumbar Accent Color Selection	LA2	Nickel		
		Seat Depth Adjustment Option Selection	E3	Seat Depth Adjustment Upgrade		



Date: 1/27/2022

Reference #: 559537

# **Town of Prosper**

Brenda Reber Business Development Manager 972.804.4808 ph brenda.reber@workspaceinteriorsod.com Dan Heischman

Prosper TX

Item Qty Product		Sell Price: U	Init	Extended
Cylinder Height Option	CH1	Standard Cylinder		
Frame Color Selection	FC1	Black Frame		
Base Selection	B17	Black Nylon Base		
Caster Selecton	CS5	Carpet Casters		
Novo Mesh Back Colors	MC21	Nickel Mesh		
Fabric or Leather Upholstery Selection	FABRIC	Fabric Grade Selections		
CA Technical Bulletin 133 Fire Std Option for Fabric Selection	~	No Selection		
Fabric Grade Selections	FG3	Fabric Grade 3		
Fabric Grade 3 Selection	SLICE	Slice Standard Color Selection		
Slice Color Selection	CHARCOAL	Slice Charcoal		
Packaging Options	UC	Back attached to seat, base separate		
97 1 <b>6423Y.AR8</b>		\$699	9.70	\$699.70
Prava, Highback, Enhanced Synchro Cntrl, AR	3 Arm			
Fabric or Leather Upholstery Selection	FABRIC	Fabric Grade Selections		
CA Technical Bulletin 133 Fire Std Option for Fabric Selection	~	No Selection		
Fabric Grade Selection	FG3	Fabric Grade 3		
Fabric Grade 3 Selection	CANTER EPU	Canter EPU Standard Color Selection		
Canter EPU Color Selection	IRON	Canter EPU Iron		
Seat Depth Adjustment Option Selection	E3	Seat Depth Adjustment Upgrade		
Base Selection	~	Std Black Nylon		
Caster Options	C21	Standard Carpet Casters		
Headrest Selection	~	No Selection		
Packaging Options	UC	Partially Assembled		
98 1 Install RT		\$1,500	0.00	\$1,500.00
Labor to Receive Deliver and Install per propose	sal			
		All work during Regular Business Hours		
		No stair carry		
		Area to be free and clear		
		Non-Union Labor		
		CODE		
99 1 <b>Install RT</b>		\$3,525	5.00	\$3,525.00
Labor to Receive Deliver and Install per propose	cal	φ3,32.	5.00	\$3,323.00
Labor to Receive Deliver and Install per propos	Sai			
		All work during Regular Business Hours		
		No stair carry		
		Area to be free and clear		
		Non-Union Labor		



Total:

Date: 1/27/2022

Reference #: 559537

# **Town of Prosper**

Brenda Reber Business Development Manager 972.804.4808 ph brenda.reber@workspaceinteriorsod.com Dan Heischman

Prosper TX

## **TOP 2ND FLR ENGINEERING RECONFIG**

Item	Qty	Product	Sell Price:	Unit	Extended
			PLANNING		
100	1	Install RT		\$13,530.00	\$13,530.00
		Labor to Receive Deliver and Install per proposal			
			All work during Regular Busines	ss Hours	
			No stair carry		
			Area to be free and clear		
			Non-Union Labor		
			ENGINEERING		
101	1			\$0.00	\$0.00
		NOTE - Estimated New Product Pricing by Department			
			Planning - \$9,914		
			Code - \$10,838		
			Engineering - \$36,905.30		
			This is estimated due to the		
			reuse of product in different		
			departments.		
			·		

\$57,657.30



Date: 1/27/2022

Reference #: 559537

# **Town of Prosper**

Brenda Reber Business Development Manager 972.804.4808 ph brenda.reber@workspaceinteriorsod.com Dan Heischman

Prosper TX

#### **TOP 2ND FLR ENGINEERING RECONFIG**

Item Qty Product Sell Price: Unit Extended

**Proposal Notes** 

**Deposit Required:** 

**Additional Information:** 



Date: 1/27/2022

Reference #: 559537

## **Town of Prosper**

Brenda Reber **Business Development Manager** 972.804.4808 рh brenda.reber@workspaceinteriorsod.com Dan Heischman

TX Prosper

#### TOP 2ND FLR ENGINEERING RECONFIG

Unit **Sell Price: Item Qty Product Extended** 

#### TERMS AND CONDITIONS OF PURCHASE (FURNITURE)

- 1. Office Depot, Inc. ("Office Depot") shall make commercially reasonable efforts to install all products as quickly as possible. However, any delivery and/or installation dates quoted to Customer are approximate, and Office Depot's obligation shall be only to deliver and/or install the products within a reasonable time. Also, due to certain factory shipment schedules, it is possible that Office Depot will be able to deliver and install portions of the job in phases. Customer will be invoiced for the items as they are delivered and payment will be due as set forth in Section 3 below.
- All prices are firm for thirty (30) days from date of proposal.
- Payment terms are net twenty (20) days from date of invoice, unless otherwise agreed to and as documented on the order or quote. Customer will be invoiced for items when delivery and installation (if applicable) is complete, and any punch issues are less than 10% of the value of the entire order. In no event shall payment be withheld for delivered products and services. Customer shall pay 90% of the invoice and may withhold 10% until completion of the job. The balance is payable immediately after any outstanding issues are resolved.
- All orders are subject to credit approval.
- Office Depot requires a minimum deposit equaling 50% on all orders over \$20,000. Said deposit will be applied to Customer's account until such product is delivered and invoiced. Each invoice, less its proportionate share of the deposit, will be due and payable as set forth in Section 4 above.
- All products and materials are subject to applicable taxes, as well as any applicable inbound freight and fabrication charges.
- An order is not cancelable once in production. "Quick ships" and fabric orders are not cancelable.
- Any quotation for special order products or materials shall be approved by an authorized Customer representative for correct product number, fabric, specifications and quantities. Any services rendered to Customer to change or modify the specification and layout before or during installation will be charged to Customer at prevailing rates. If such changes or modifications result in additional products, parts, materials or labor, they will be billed to Customer at prevailing rates.
- Delivery and installation services are conducted during normal business hours of 8:00 a.m. to 5:00 p.m., Monday through Friday. If services are requested outside of normal business hours, if special handling or equipment is required, if moving of products other than delivered is required, or if there are any unusual condition not made known to Office Depot at the time of sale, extra labor charges at prevailing rates may apply.
- 10. If during installation, additional products are necessary or required to complete the job, such additional products and labor will be charged to Customer at prevailing rates
- 11. Electric current, heat, hoisting and/or elevator service will be furnished without charge to Office Depot.
- 12. Floors shall be smooth, level and free from debris, and concrete subject to dampness shall be waterproofed prior to delivery and installation of products.

- 13. If Customer is unwilling or unable to accept delivery or installation of the products according to the specified schedule, the products will be stored at Customer's expense. Customer shall pay a warehouse charge payable monthly. Double handling of a product will be charged at our normal hourly rate.
- 14. Office Depot makes no warranties, expressed or implied, as to merchantability or as the suitability of the products for any particular purpose, except those made by the manufacturer of the products. Any claim must be made to Office Depot in writing within five (5) days after delivery or installation of the products and if no claim is so received by Office Depot it will be conclusively presumed that Customer has accepted and that the products are as represented.
- 15. No liability shall accrue against Office Depot as a result of breach of terms and conditions caused by any strike, act of God, lockout, accident, or delay beyond its control.
- Office Depot retains, and Customer hereby grants to Office Depot, a security interest in the products to secure the purchase price therefore. The products shall remain personal property regardless of being fixed to any real property. If Customer defaults in the payment of the purchase price when due, Office Depot shall have all rights and remedies granted by the Uniform Commercial Code. A finance charge of 2% per month (annual percentage rate 24%)\*will be charged on\*18% all past due balances. Customer shall pay all collection costs, including attorneys fee, in the event any claim is referred to a collection agency or attorney.
- 17. Products shipped directly to Customer shall be the responsibility of Customer except if agreed in writing that Office Depot will provide delivery and installation services. The receiving Customer is responsible to inspect products and file any necessary freight claims with freight provider.
- 18. Manufacturer warranties apply for parts only. Labor is not
- 19. It is Customer's responsibility to furnish a certified electrician to "hardwire" cubicle stations to building power.
- 20. All items set forth in the quotation are non-returnable
- 21. IN NO EVENT SHALL EITHER PARTY BE LIABLE FOR CONSEQUENTIAL, SPECIAL, INDIRECT OR INCIDENTAL WHETHER IN AN ACTION BASED ON CONTRACT, TORT (INCLUDING NEGLIGENCE) OR ANY OTHER LEGAL THEORY, EVEN IF THE PARTY HAS BEEN ADVISED OF THE POSSIBILITY OF SUCH DAMAGES.
- 22.\*Each party shall indemnify and hold harmless the other party \*Insert "To the extent attorneys' fees due to, arising from or relating to the negligent, willful or reckless act or omission of the indemnifying party.
- These terms and conditions shall be governed by the law of the State of Florida, without regard to conflict of laws principles.

from and against any and all third-party claims, demands, authorized by Texas actions, suits, losses, liabilities, damages and all related costs and expenses, including without limitation reasonable

Customer has read and understands these terms and conditions of purchase.

Customer: Town of Prosper	Address: 250 W. First St., 2nd Floor, Prosper, TX 75078
Customer's Signature:	Title: Town Manager
Print Name: Harlan Jefferson	Date:



Date: 1/27/2022

Reference #: 559537

## **Town of Prosper**

Brenda Reber
Business Development Manager

Business Development Manager 972.804.4808 ph brenda.reber@workspaceinteriorsod.com

Prosper TX

#### **TOP 2ND FLR ENGINEERING RECONFIG**

Item Qty Product Sell Price: Unit Extended

**Special Instructions:** 

Proposal valid for 30 days

Please note: a deposit is required on all furniture orders prior to order placement

One of the following is required prior to placing your order: Signed Terms and Condition, Furniture Agreement on file or a Workspace Interiors Furniture Addendum on file

Workspace Interiors may require additional credit information, prior to placing your order

The appropriate tax will be applied at the time of invoicing

This proposal contains **Special Order** items that are **Not Returnable** 

Once an order is placed, cancellations are **Not Allowed**.

Estimated leadtime is subject to the manufactures production / shipping schedule